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Exercise 2.3

Question 1:
Solve the following equations and check your results: 3x=2x+18
#. Answer 1:

3x=2x+18
=% 3x—2x=18 => x=18
To check: 3x=2x+18
= 3x18=2x18+18 = 54=36+18
=% 54 =54 =5 L.H.S. =R.H.S.

Hence, it is correct.

Question 2:
Solve the following equations and check your results: 5t—3=3¢—-5

€. Answer 2:

5t—-3=3t-5

= 5t—-3tr=-5+3 =% 2==2 :>r=_?2=—1
To check: 5t—3=3r-5

= 5x(-1)-3=3x(-1)-5 =-5-3=-3-5 = -8=-8

= L.H.S. = R.H.S.
Hence, it is correct.

Question 3:
Solve the following equations and check your results: 5x+9=5+3x
€. Answer 3:

5x+9=5+3x

= 5x—-3x=5-9 = 2x=-4 =
To check: 5x+9=5+3x
= 5x(-2)+9=5+3%x(-2) =-10+9=5-6 = —1=-1

= L.H.S. =R.H.S.
Hence, it is correct.

Question 4:
Solve the following equations and check your results: 4z+3=6+2z

€. Answer 4:

4z+3=6+2z

= 47— 22=6-3 = Dz=1 :>z=%
To check: 4z+3=6+2z

:‘»4x%+3=6+2x% = 2x3+3=6+3 = 6+3=9

= 9=9 = L.H.S. =R.H.S.

Hence, it is correct.
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Question 5:
Solve the following equations and check your results: 2x—1=14—x

#. Answer 5:

2x—-1=14—x

= 2x+x=14+1 = 3x=15 =% x=g=5
To check: 2x—1=14—x

= 2x5-1=14-5 =10-1=9 —=9=9

=5 L.H.S. = R.H.S.
Hence, it is correct.

Question 6:
Solve the following equations and check your results: 8x+4=3(x—1)+7

#. Answer 6:
8x+4=3(x—1)+7

=% 8x+4=3x-3+7 = 8x—3x=-3+7-4 = 5x=0
0
= x=—=0
5
To check:
8x+4:3(x—1)+7
= 8x0+4=3(0-1)+7 = 0+4=3x(-1)+7 = 4=-3+7
— 4=4 = L.HS.=R.HS.

Hence, it is correct.

Question 7:

Solve the following equations and check your results: x= %(x+ 10)

€. Answer 7:
4
x=—(x+10
 (x+10)
= 5.t‘=4(x+]0) = S5x=4x+40 = S5x—4x=40
=% x=40
To check:
x:i(xHO)
5
4 4
= 40=§(40+10) =5 40=gx50 = 40=4x10
= 40 =40 = L.H.S. = R.H.S.

Hence, it is correct.

Question 8:

Solve the following equations and check your results: %+1 = -1]—;+3
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#. Answer 8:
E+I=E+3
3 15
2X_IE g s =X o =3x=30 = x=2_10
3 15 15 3
To check: 2+1=B+3
3 15
2x10 7x10 20 14 20+3 14+9 23 23
= +1= +3=>—+1=—4+3 = = = —=—
3 15 3 3 3 3 3 3

= L.H.S. = R.H.S. Hence, it is correct.

Question 9:

Solve the following equations and check your results: 2y+§ = ?— y
€. Answer 9:
2’+§.—%_
¥ 3 3 L4
26 5 26-5 21
= 2y+y=——=— = Jy=—— = 3y=—
3 3 . 3 ? 3
s _21 7
- Ix3 3
To check: 2v+§=§—v
Yr3=37-
7 5 26 7 14 5 26 7 14+5 26-7
=5 2X—F—=——-—— =D —F4-—=—-— = ——=—"
33 3 3 I\3 8 |3 3 3
L = ) =LHS.=RHS.
3 3

Hence, it is correct.

Question 10:

Solve the following equations and check your results: 3m =5m —%

€. Answer 10:

3m:5m—§
5
-8 — - 4
= 3Im—S5m=— = 2m=— = m= = m=—
S 5 x(—2) 5
To check: 3m=5m—§
4 4 8 12 8 12 20-8 12 12
= 3X==5%x—=—= = —=4—— = —=— = —=—
5 5 5 5 5 5 5 5 5

= LH.S.=R.H.S.
Hence, it is correct.
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